HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
ER27F281H
Bl Kim = JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 214 0.0 it 10.3 ook 69 1016.7
2 211 0.0 it 9.0 o 68 1016.4
3 211 0.0 it 9.4 ook 69 1016.1
4 21.0 0.0 it 9.2 ook 67 1016.1
5 211 0.0 JtitFE 8.7 ook 62 1016.4
6 21.0 0.0 it 8.7 ook 63 1017.3
7 21.0 0.0 titdE 9.4 ook 66 1018.2
8 2138 0.0 JtitFE 70 ook 49 1019.1
9 21.0 0.0 it 8.4 ook 62 1019.4
10 20.9 0.0 it 98 sokk 65 1019.4
11 211 0.0 it 98 sokk 59 1018.9
12 215 0.0 it 9.0 ook 61 1018.2
13 2138 0.0 it 9.2 ook 51 1017.3
14 216 0.0 Jtit=E 10.4 o 53 1016.5
15 212 0.0 it 8.8 ook 59 1016.1
16 2138 0.0 it 9.2 o 63 1016.1
17 21.0 0.0 it 91 ook 69 1016.5
18 213 0.0 Jtt 12.0 o 64 1017.0
19 211 0.0 Jtit 14.1 o 68 1017.6
20 211 0.0 Jtt 13.4 ook 65 1017.9
21 21.0 0.0 Jtt 12.7 o 63 1018.3
22 21.0 0.0 Jtt 11.8 ook 61 10185
23 213 0.0 it 10.8 ook 68 1018.6
24 21.0 0.0 it 15 ook 61 1018.6
H&x A 218 0.0 14.1 69 1019.4
B/ 20.9 0.0 7.0 49 1016.1
EERS] 212 10.1 63 1017.6
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ERK27F2H2H
Bl Kim = JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 20.8 0.0 Jbib = 8.8 sokk 56 1018.2
2 20.8 0.0 b= 10.3 o 62 1017.9
3 20.8 0.0 Jbib = 12.4 okok 68 1017.6
4 205 0.0 it 12.0 o 64 1017.4
5 20.4 0.0 b= 12.2 okok 58 1018.0
6 20.5 0.0 dedt 11.6 *kkk 57 1018.8
7 20.6 0.0 I3t 1.1 sokk 61 1019.4
8 20.0 0.0 =it 8.0 o 68 1020.1
9 20.6 0.0 =it 115 o 65 1020.6
10 21.0 0.0 b= 10.6 o 64 1020.4
11 206 0.0 b= 1.1 koK 65 1020.0
12 20.6 0.0 b= 1.1 okok 65 1019.1
13 20.3 0.0 I3t 11.6 sokk 64 10185
14 205 0.0 I3t 11.6 o 59 1017.9
15 20.8 0.0 dedt 11.1 *okok 57 1017.6
16 20.7 0.0 I3t 105 o 55 1017.6
17 20.5 0.0 Jtit=E 114 *okok 59 1017.7
18 205 0.0 I3t 105 sokk 69 10185
19 20.3 0.0 it 11.0 okok 63 1019.1
20 20.3 0.0 it 12.2 sokk 62 1019.7
21 20.3 0.0 it 11.9 sokk 60 1019.8
22 20.4 0.0 it 116 o 61 1020.0
23 20.6 0.0 it 10.8 sokk 57 1019.8
24 20.7 0.0 it 9.4 o 57 1020.0
H&x A 21.0 0.0 12.4 69 1020.6
Hex/ 20.0 0.0 8.0 55 1017.4
EESS] 205 11.0 62 1018.9
&3t 0.0 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU Hjei 36.1 REXE Hzfz.i 17.7
e ) 10245 RERE 700 930.1
= =|E#EEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . FRARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ERK27F2H3H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 20.3 0.0 HitE 95 sokk 53 1019.8
2 20.4 0.0 b= 91 sokk 56 1019.4
3 205 0.0 I3t 9.0 okok 58 1018.8
4 20.2 0.0 I3t 8.6 sokk 59 1018.6
5 19.9 0.0 I3t 10.0 sokk 60 1018.9
6 19.6 0.0 =it 8.1 sokk 67 1019.7
7 20.2 0.0 it 8.2 okok 65 1020.3
8 20.4 0.0 it 105 o 59 1020.6
9 20.4 0.0 it 85 sokk 59 1020.9
10 205 0.0 it 8.6 o 67 1020.4
11 *kokk *kokk *kokk *kokk *kokk *kk *kk
12 20.0 0.0 b= 9.0 sokk 73 1018.9
13 19.8 0.0 HitE 8.7 sokk 73 1018.2
14 211 0.0 b= 91 okok 65 1017.6
15 213 0.0 I3t 9.4 sokk 60 1017.3
16 212 0.0 I3t 9.4 o 60 1017.1
17 211 0.0 I3t 95 sokk 59 1017.3
18 20.9 0.0 I3t 9.4 o 61 1017.6
19 208 0.0 I3t 8.9 sokk 62 1018.2
20 208 0.0 b= 93 sokk 69 1018.6
21 20.2 0.0 Jbib = 8.8 sokk 69 1018.8
22 205 0.0 it 98 sokk 66 1018.8
23 20.6 0.0 it 8.2 sokk 65 1018.8
24 205 0.0 it 6.8 sokk 63 10185
H&x A 213 0.0 105 73 1020.9
B/ 19.6 0.0 6.8 53 1017.1
EESS] 205 9.0 63 1018.8
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ERK27F2H4H
Bl Kim = JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 20.7 0.0 JtE® 7.0 kK 64 1018.0
2 20.6 0.0 it 74 o 65 1017.7
3 20.6 0.0 it 6.6 sokk 64 1017.3
4 20.8 0.0 =it 6.6 o 61 1017.0
5 20.9 0.0 it 71 sokk 57 1017.3
6 21.0 0.0 it 6.4 ook 58 1017.9
7 211 0.0 HitE 55 sokk 60 1018.3
8 21.7 0.0 it 5.7 sokk 55 1018.6
9 216 0.0 it 6.6 sokk 56 1018.8
10 215 0.0 it 71 sokk 54 10185
11 220 0.0 it 6.2 sokk 52 1017.9
12 224 0.0 it 6.5 o 51 1017.1
13 224 0.0 HitE 72 sokk 54 1016.2
14 214 0.0 it 6.3 sokk 59 1015.5
15 212 0.0 it 71 o 58 1015.0
16 212 0.0 it 8.6 o 64 1015.0
17 211 0.0 b= 7.9 sokk 67 1015.3
18 20.9 0.0 it 8.7 ook 68 1015.8
19 20.8 0.0 it 85 o 65 1016.4
20 20.9 0.0 it 8.7 o 68 1017.0
21 20.9 0.0 it 76 ook 63 1017.3
22 20.9 0.0 it 8.3 o 68 1017.3
23 21.0 0.0 it 72 o 68 1017.0
24 21.0 0.0 it 76 sokk 69 1016.8
H&x A 224 0.0 8.7 69 1018.8
Hex/ 20.6 0.0 55 51 1015.0
HEH 212 72 61 1017.0
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
FR274%E2A58 .
Bl Kim = JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 211 0.0 it 6.4 Fokx 68 1016.5
2 20.9 0.0 it 5.4 ook 70 1016.1
3 21.0 0.0 it 6.1 ook 70 1015.5
4 20.9 0.0 b= 6.5 ook 71 1015.3
5 205 0.0 R E 65 o 78 1015.5
6 20.4 0.0 b= 50 ook 82 1015.9
7 214 0.0 it 55 ook 73 1016.4
8 222 0.0 it 5.2 ook 71 1016.8
9 225 0.0 it 44 o 68 1017.0
10 231 0.0 = 39 sokk 68 1016.5
11 234 0.0 = 42 o 67 1015.9
12 239 0.0 = 35 o 63 1015.2
13 247 0.0 = 2.7 o 62 1014.1
14 256 0.0 = 34 o 60 10135
15 25.0 0.0 = 31 o 59 1012.9
16 242 0.0 EEd 28 o 64 1013.1
17 241 0.0 Eab 13 o 64 10135
18 228 0.0 BER 10 o 66 1014.1
19 226 0.0 it 10 o 68 1014.6
20 225 0.0 it 13 ook 67 1015.5
21 225 0.0 it 2.8 ook 68 1015.8
27 224 0.0 it 30 ook 68 1015.9
23 224 0.0 it 26 ook 69 1015.8
24 222 0.0 it 51 o 75 1015.5
H&x A 25.6 0.0 6.5 82 1017.0
B/ 20.4 0.0 10 59 1012.9
EERS] 226 39 68 1015.3
&3t 0.0 *okok
BEEEAT—4
== |ER B °C =mew EREAH °C
R XU H1§6J1 36.1 RESE 50247 177
e ) 10245 RERE 700 930.1
= =|E#EEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . FRARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ERK27F2H6H
Bl Kim = JEL[F] JERE H BE B R BE KT
i3 °C mm 167’3’£’L m.”'s h % hPa
1 214 0.0 I3t 6.9 sokk 77 1015.5
2 20.1 0.0 Jtt 105 o 83 1015.2
3 19.8 0.0 I3t 98 sokk 84 1014.9
4 211 0.0 I3t 8.2 o 71 1014.7
5 20.9 0.0 it 8.2 o 70 1015.0
6 212 0.0 Jtt 9.4 ook 68 1015.8
7 213 0.0 it 85 ook 66 1016.4
8 214 0.0 it 8.0 o 67 1017.1
9 216 0.0 Jtit= 8.4 o 63 1017.6
10 213 0.0 it 10.0 o 71 1017.6
11 220 0.0 it 8.0 ook 66 1017.3
12 219 0.0 it 8.4 sokk 65 1016.7
13 21.7 0.0 it 8.2 ook 66 1016.1
14 215 0.0 it 8.2 o 66 1015.6
15 224 0.0 it 8.7 o 62 1015.2
16 214 0.0 I3t 98 sokk 71 1015.3
17 20.9 0.0 Jtit 10.6 o 68 1015.6
18 20.8 0.0 I3t 95 ook 70 1016.4
19 20.7 0.0 I3t 96 o 67 1017.1
20 20.6 0.0 Jedt 9.5 *kkok 65 1017.7
21 20.6 0.0 I3t 9.4 o 63 10185
22 20.6 0.0 Jtdt 8.3 sokk 65 10185
23 20.6 0.0 b= 8.7 sokk 65 1018.3
24 205 0.0 Jbib = 9.0 o 65 1018.2
H&x A 224 0.0 10.6 84 10185
B/ 19.8 0.0 6.9 62 1014.7
EERS] 211 8.9 69 1016.5
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ERK27F2H7H
Bl Kim = JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 20.4 0.0 I3t 6.9 ook 65 1018.0
2 20.4 0.0 Jtt 74 o 60 1017.6
3 20.2 0.0 I3t 59 ook 58 1017.3
4 20.4 0.0 b= 5.2 sokk 61 1016.8
5 20.3 0.0 Jbib = 6.4 sokk 62 1016.5
6 20.4 0.0 b= 58 o 62 1017.0
7 20.4 0.0 it 6.4 ook 58 1017.3
8 20.8 0.0 =it 6.8 o 61 1017.7
9 20.8 0.0 it= 93 sokk 66 1018.2
10 20.7 0.0 b= 10.2 o 68 1018.2
11 20.8 0.0 =it 8.8 o 62 1017.9
12 212 0.0 =it 8.2 o 60 1017.0
13 20.8 0.0 it 8.0 o 63 1016.2
14 20.8 0.0 it 78 sokk 60 1015.8
15 20.8 0.0 it 81 sokk 66 1015.5
16 20.8 0.0 it 76 sokk 62 1015.8
17 20.7 0.0 HitE 77 o 62 1015.9
18 20.6 0.0 b= 6.9 sokk 61 1016.2
19 20.6 0.0 it 73 sokk 61 1016.7
20 20.7 0.0 it 78 sokk 61 1017.3
21 205 0.0 it 8.3 o 63 1017.4
22 20.4 0.0 it 85 o 60 1017.6
23 20.3 0.0 it 72 o 61 1017.6
24 20.2 0.0 it 74 sokk 60 1017.3
H&x A 212 0.0 10.2 68 1018.2
Hex/ 20.2 0.0 52 58 1015.5
H¥EH 20.6 75 62 1017.0
&3t 0.0 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU Hjei 36.1 REXE Hzfz.i 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ERK27F2H8H
Bl Kim Sk JERE H BE B R BE KT
i °C mm m.”’s h % hPa
1 20.2 0.0 8.0 sokk 60 1016.7
2 20.1 0.0 70 sokk 63 1016.2
3 20.3 0.0 95 o 65 1015.6
4 205 0.0 91 o 65 1015.8
5 20.4 0.0 8.1 o 66 1015.8
6 205 0.0 76 o 69 1015.9
7 20.6 0.0 6.7 sokk 66 1016.5
8 211 0.0 50 sokk 65 1016.8
9 212 0.0 50 o 65 1017.4
10 212 0.0 39 o 64 1017.3
11 220 0.0 E 31 sokk 63 1016.5
12 224 0.0 E 26 o 61 1015.5
13 236 0.0 24 o 58 1014.6
14 242 0.0 25 o 57 1014.0
15 225 0.0 26 o 62 1013.7
16 245 0.0 2.9 o 58 1013.2
17 230 0.0 43 o 63 1013.7
18 223 0.0 35 o 64 1014.3
19 221 0.0 45 o 65 1014.7
20 221 0.0 44 o 67 1014.9
21 221 0.0 42 o 67 1015.2
22 220 0.0 42 o 69 1015.2
23 220 0.0 55 o 70 1015.0
24 21.9 0.0 50 o 69 1015.2
Hmx KX 245 0.0 9.5 70 1017.4
B/ 20.1 0.0 2.4 57 1013.2
EERS] 218 5.1 64 1015.4
&3t 0.0 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU Hjei 36.1 REXE Hzfz.i 17.7
e ) 10245 RERE 700 930.1
= =|E#EEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . FRARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER27F2H9H
Bl Kim = JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 21.9 0.0 it 4.6 Fokx 70 1015.2
2 219 0.0 it 5.2 o 70 1014.6
3 219 0.0 b= 4.1 o 69 1014.6
4 2138 0.0 it 51 sokk 70 1014.3
5 21.9 0.0 =it 6.5 sokk 70 1013.8
6 220 0.0 it= 6.7 sokk 67 1014.3
7 221 0.0 = 6.2 sokk 70 1014.9
8 222 0.0 it 56 sokk 64 1015.5
9 231 0.0 it 5.4 sokk 64 1015.8
10 228 0.0 b= 4.1 o 68 1015.9
11 240 0.0 HitE 59 o 60 1014.9
12 2438 0.0 = 3.7 o 59 1014.3
13 25.1 0.0 = 2.9 o 60 1013.4
14 25.7 0.0 = 32 o 58 1012.6
15 25.0 0.0 = 34 o 59 1012.3
16 239 0.0 HitE 32 o 63 1012.6
17 222 0.0 it 51 o 72 1013.1
18 216 0.0 it 4.7 o 73 1013.4
19 221 0.0 it 42 o 68 1014.3
20 222 0.0 it 4.7 o 68 1014.9
21 220 0.0 it 4.0 ook 67 1014.9
22 221 0.0 Jbib = 4.4 o 65 1014.9
23 22.0 0.0 dt 52 *kokk 68 1014.1
24 220 0.0 it 55 sokk 71 1014.3
H&x A 25.7 0.0 6.7 73 1015.9
B/ 216 0.0 2.9 58 1012.3
EERS] 228 4.7 66 1014.3
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER278E2H108
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 21.9 0.0 Jtt 6.6 Fokx 70 1014.0
2 20.3 0.0 it 96 o 86 1013.7
3 20.4 0.0 Jtt 10.9 o 86 1013.4
4 19.7 0.0 Jtt 14.7 o 86 1013.4
5 20.1 0.0 Jtt 15.1 o 85 1013.4
6 18.8 0.0 Jedt 14.9 *kkk 89 1014.7
7 20.0 0.0 b= 13.1 o 79 1015.0
8 20.3 0.0 Jtit 13.2 ook 74 1015.5
9 20.1 0.0 it 115 o 78 1015.8
10 20.1 0.0 Jtt 12.4 o 72 1015.6
11 20.3 0.0 Jtit 1.3 o 73 1014.9
12 19.8 0.0 Jtt 1.2 o 80 1014.4
13 205 0.0 Jtit 11.6 o 72 1013.7
14 205 0.0 Jtt 11.0 o 71 1013.1
15 20.1 0.0 Jtit 12.4 o 73 1012.6
16 20.3 0.0 b= 11.6 ook 71 1012.9
17 20.2 0.0 Jtit 125 o 68 1013.1
18 20.2 0.0 Jtt 12.3 o 66 1014.0
19 20.2 0.0 it 103 ook 69 1014.9
20 20.2 0.0 it 105 o 65 1015.2
21 20.3 0.0 Jbib = 99 o 66 1015.5
22 205 0.0 it 8.9 ook 68 1015.5
23 20.2 0.0 it 9.2 o 66 1015.0
24 20.3 0.0 it 8.6 o 65 1014.6
H&x A 21.9 0.0 15.1 89 1015.8
B/ 18.8 0.0 6.6 65 1012.6
EEZD] 20.2 1.4 74 1014.3
&3t 0.0 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU H1§6J1 36.1 REXE Hzfz.i 177
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER27FE2A8118
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 20.2 0.0 it 7.9 Fokx 67 1014.1
2 20.2 0.0 it 7.9 sokk 64 10135
3 20.3 0.0 it 71 o 69 1013.4
4 20.1 0.0 it 6.9 o 64 1013.1
5 20.1 0.0 Jbib = 6.4 sokk 64 10135
6 20.1 0.0 it 58 o 62 1013.7
7 20.3 0.0 it 51 o 59 1014.4
8 205 0.0 it 55 sokk 62 1014.9
9 20.5 0.0 it 54 *okok 60 1015.2
10 21.0 0.0 it 5.2 sokk 62 1015.3
11 21.9 0.0 HitE 55 o 62 1014.6
12 20.8 0.0 b= 5.2 o 64 1014.0
13 20.8 0.0 Jbib = 42 o 63 1013.4
14 21.0 0.0 b= 45 o 65 1012.8
15 211 0.0 I3t 55 sokk 64 1012.5
16 20.9 0.0 I3t 5.2 sokk 60 1012.3
17 20.9 0.0 I3t 5.4 sokk 62 1012.8
18 20.6 0.0 it 5.2 o 62 1013.1
19 20.6 0.0 I3t 6.1 sokk 61 1013.8
20 20.7 0.0 it 4.7 ook 59 1014.3
21 20.6 0.0 I3t 53 o 60 1014.6
22 20.6 0.0 I3t 5.2 o 59 1014.6
23 20.6 0.0 I3t 51 o 63 1014.3
24 205 0.0 I3t 5.4 o 61 1014.0
H&x A 21.9 0.0 7.9 69 1015.3
B/ 20.1 0.0 42 59 1012.3
EERS] 20.6 5.7 62 1013.8
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|E#EEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . FRARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER27FE2H128
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 20.4 0.0 it 51 Fokx 60 1013.7
2 20.4 0.0 it 56 o 60 1013.1
3 20.2 0.0 it 58 sokk 62 1012.8
4 20.3 0.0 it 5.9 o 63 1012.6
5 20.3 0.0 it 50 o 63 1013.1
6 20.2 0.0 it 5.4 sokk 59 10135
7 20.4 0.0 = 5.2 o 63 1014.0
8 21.0 0.0 it 51 o 58 1014.3
9 212 0.0 it 50 sokk 57 1014.3
10 212 0.0 1t 38 o 60 1014.1
11 236 0.0 = 21 o 51 1013.7
12 235 0.0 = 22 o 52 1013.4
13 24.4 0.0 21 o 50 1012.2
14 246 0.0 it 10 o 52 1012.2
15 234 0.0 Jtt 16 o 56 1011.7
16 23.6 0.0 dedt 2.1 *okok 55 1011.7
17 215 0.0 I3t 31 o 58 1011.7
18 213 0.0 it 2.9 o 59 1012.2
19 211 0.0 it 35 sokk 60 1012.8
20 211 0.0 JE3L 34 sokk 60 10135
21 211 0.0 it 38 o 60 10135
22 20.8 0.0 it 3.7 o 64 1013.7
23 20.8 0.0 it 4.1 o 62 1013.7
24 20.7 0.0 L= 33 o 61 1013.8
H&x A 246 0.0 59 64 1014.3
B/ 20.2 0.0 10 50 1011.7
HEH 215 38 59 1013.1
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
ER27FE2H138
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 20.7 0.0 it 20 Fokx 59 1013.4
2 20.7 0.0 It 2.0 ook 59 1012.9
3 20.4 0.0 it 21 ook 62 1012.5
4 20.2 0.0 14 o 64 1012.2
5 20.7 0.0 It 22 ook 62 1012.5
6 20.2 0.0 it 21 o 63 1013.1
7 21.0 0.0 Jtt 2.8 o 61 1014.0
8 225 0.0 Jtt 2.9 o 56 1014.6
9 226 0.0 it 23 o 55 1014.7
10 237 0.0 it 2.9 o 55 1014.9
11 25.1 0.0 I3t 30 ook 51 1014.3
12 26.1 0.0 Jtt 2.9 o 51 1014.0
13 26.7 0.0 I3t 33 ook 49 10135
14 25.8 0.0 I3t 39 o 55 1013.1
15 236 0.0 I3t 33 o 62 1013.1
16 229 0.0 I3t 5.2 o 69 1013.4
17 223 0.0 I3t 8.7 o 71 1014.0
18 221 0.0 it 7.0 o 70 1014.6
19 2138 0.0 it 76 o 70 1015.2
20 2138 0.0 It 73 ook 66 1015.8
21 216 0.0 it 6.7 ook 69 1016.1
22 215 0.0 it 6.7 o 65 1016.4
23 214 0.0 it 56 ook 63 1016.1
24 212 0.0 it 6.8 ook 65 1015.9
H&x A 26.7 0.0 8.7 71 1016.4
B/ 20.2 0.0 14 49 1012.2
HEH 224 42 61 1014.2
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
FR27F2H14H .
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 21.1 0.0 it 6.9 sokk 66 1015.9
2 21.0 0.0 Jt3t 75 ook 61 1015.8
3 20.8 0.0 it 76 sokk 57 1015.5
4 20.7 0.0 it 6.7 ook 61 1015.5
5 20.7 0.0 I3t 96 sokk 59 1016.1
6 20.8 0.0 I3t 93 o 59 1017.0
7 20.6 0.0 it 9.7 o 60 1017.6
8 20.8 0.0 L= 9.9 sokk 63 1018.2
9 20.7 0.0 it 8.7 ook 59 1018.8
10 20.8 0.0 Jtt 10.2 ook 56 1019.2
11 21.0 0.0 Jtit 10.9 ook 60 1018.8
12 20.7 0.0 Jtt 10.0 ook 56 1018.6
13 211 0.0 I3t 96 sokk 59 1017.9
14 20.6 0.0 I3t 9.4 ook 56 1017.3
15 20.4 0.0 I3t 95 o 58 1017.0
16 20.4 0.0 it 9.4 o 58 1017.0
17 205 0.0 it 9.2 ook 57 1017.3
18 20.1 0.0 it 9.2 o 56 1017.6
19 20.2 0.0 it 9.7 ook 60 1018.3
20 20.1 0.0 it 9.7 ook 54 1018.9
21 20.0 0.0 HitE 98 sokk 57 1019.4
22 20.3 0.0 it 9.9 ook 58 1019.2
23 20.4 0.0 it 9.4 o 55 1018.8
24 20.3 0.0 it 10.2 ook 64 10185
H&x A 211 0.0 10.9 66 1019.4
Hex/ 20.0 0.0 6.7 54 1015.5
H¥EH 20.6 9.3 59 1017.7
&3t 0.0 *okok
BEEEAT—4
== |ER B °C =mew EREAH °C
R XU H1§6J1 36.1 RESE 50247 177
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
FR27%2H15H .
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 20.1 0.0 b= 9.0 ook 58 1017.9
2 20.0 0.0 Jtit= 8.3 o 60 1017.1
3 20.2 0.0 it 9.4 ook 60 1016.8
4 20.0 0.0 it 98 ook 64 1016.7
5 19.6 0.0 it 8.7 ook 59 1016.8
6 19.9 0.0 b= 81 ook 61 1017.3
7 19.6 0.0 it 95 ook 57 1018.2
8 19.8 0.0 =it 9.7 sokk 57 1018.8
9 19.8 0.0 b= 8.4 o 58 1019.2
10 20.2 0.0 it 8.9 ook 54 1019.4
11 20.4 0.0 it 8.7 ook 56 1018.8
12 20.7 0.0 it 8.3 ook 60 1018.0
13 211 0.0 =it 7.9 o 55 1017.3
14 20.3 0.0 It 74 o 63 1016.7
15 20.6 0.0 it 73 ook 59 1016.1
16 20.3 0.0 it 75 ook 57 1016.1
17 20.1 0.0 b= 7.9 ook 60 1015.8
18 20.1 0.0 it 71 ook 60 1015.9
19 20.1 0.0 =it 77 ook 62 1016.5
20 20.1 0.0 it 7.9 o 64 1017.0
21 20.2 0.0 b= 71 o 65 1017.0
27 20.2 0.0 HitE 6.8 o 67 1017.3
23 20.4 0.0 it 78 o 69 1017.0
24 20.1 0.0 it 71 o 69 1017.0
H&x A 211 0.0 98 69 1019.4
B/ 196 0.0 6.8 54 1015.8
HEH 20.2 8.2 61 1017.3
&3t 0.0 *okok
BEEEAT—4
== |ER B °C =mew EREAH °C
R XU H1§6J1 36.1 RESE 50247 177
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




/BB (FX/M)O)K[RREBRT—A (4 1E]
ti&: 20259 Hi%:136E04H
FR275%2H16H .
Bl Kim M= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 20.1 0.0 it 6.4 ook 68 1016.5
2 20.1 0.0 it 6.8 sokk 69 1016.1
3 20.1 0.0 Jbib = 6.8 sokk 70 1015.5
4 20.0 0.0 it 7.0 ook 68 1014.9
5 19.9 0.0 it 6.4 o 67 1014.6
6 19.9 0.0 b A2 6.9 kK 67 1015.3
7 20.1 0.0 it 6.8 sokk 67 1015.8
8 20.3 0.0 it 6.8 sokk 66 1016.1
9 20.2 0.0 it 6.3 sokk 66 1016.5
10 205 0.0 it 6.1 sokk 66 1016.5
11 20.4 0.0 it 6.1 sokk 66 1015.9
12 205 0.0 it 5.2 o 66 1015.0
13 211 0.0 it 36 o 63 1014.1
14 20.9 0.0 b 3.7 oo 64 1013.1
15 20.7 0.0 Jt= 3.2 Hokok 65 1012.8
16 20.7 0.0 Jbib = 43 o 64 1012.9
17 20.7 0.0 JtE® 3.6 kK 62 1013.4
18 205 0.0 Jbib = 4.1 sokk 67 1013.8
19 20.4 0.0 it 4.0 ook 68 1014.3
20 20.3 0.0 it 30 o 67 1014.7
21 20.1 0.0 it 32 sokk 67 1014.9
22 20.1 0.0 it 3.7 o 67 1015.0
23 20.2 0.0 it 18 sokk 69 1014.9
24 20.0 0.0 HitE 25 o 68 1014.9
H&x A 211 0.0 7.0 70 1016.5
B/ 19.9 0.0 18 62 1012.8
EEZD] 20.3 4.9 67 1014.9
&3t 0.0 *okok
BEEEAT—4
== |ERD H °C = S H °C
RS XU H1§6J1 36.1 REXE Hzfz.i 177
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER27FE2R817H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 20.0 0.0 HitE 13 Fokx 68 1014.1
2 19.7 0.0 = 0.8 o 70 1013.4
3 19.4 0.0 = 0.6 sokk 71 1012.8
4 195 0.0 it 19 o 72 1012.6
5 195 0.0 It 19 sokk 71 1012.5
6 195 0.0 it 13 sokk 71 1012.8
7 20.2 0.0 T3t 20 o 69 1013.1
8 21.8 0.0 Jedt 2.7 *kkok 62 1013.7
9 21.7 0.0 it 2.9 o 65 1014.0
10 2138 0.0 it 22 o 65 1014.0
11 228 0.0 it 14 o 59 1013.7
12 233 0.0 it 13 o 60 1013.1
13 243 0.0 it 0.1 ook 56 1012.3
14 247 0.0 Jtt 0.8 o 55 1011.7
15 247 0.0 Jtit 0.7 o 53 1011.7
16 226 0.0 Jtt 0.9 ook 58 1011.9
17 237 0.0 Jtit 17 o 53 1012.6
18 219 0.0 it 17 o 60 1013.1
19 214 0.0 it 14 o 64 1013.7
20 213 0.0 It 22 ook 62 1014.3
21 212 0.0 b= 12 o 61 1014.4
22 21.0 0.0 HitE 13 o 62 1014.4
23 211 0.0 E 11 ook 62 1014.3
24 20.7 0.0 JtitdE 14 o 66 1014.0
H&x A 247 0.0 2.9 72 1014.4
B/ 19.4 0.0 0.1 53 1011.7
EERS] 216 15 63 1013.3
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|E#EEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . FRARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER275E2H18H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 20.6 0.0 it 0.8 ook 66 10135
2 20.7 0.0 B[ 25 o 67 1013.2
3 20.8 0.0 Al 21 o 69 1012.8
4 20.9 0.0 B 2.0 o 69 1012.3
5 211 0.0 B[ 2.9 ook 71 1012.8
6 212 0.0 [ 34 ook 72 10135
7 215 0.0 7 30 o 72 1014.1
8 224 0.0 it 30 ook 69 1014.9
9 19.8 05 i 45 o 92 1015.5
10 20.1 25 75 10 o 91 1015.5
11 215 0.0 TP 13 o 84 1014.7
12 21.7 0.0 751t 7 38 o 77 1014.0
13 235 0.0 Jtdt 43 o 73 1013.1
14 2138 05 I3t 6.6 o 82 1012.6
15 233 0.0 it 9.2 o 66 1012.2
16 230 0.0 I3t 8.3 ook 66 1012.5
17 225 0.0 it 85 o 66 1013.2
18 216 0.0 it 7.9 o 69 1013.7
19 214 0.0 it 8.1 o 67 1014.0
20 213 0.0 it 76 ook 70 1014.3
21 212 0.0 it 8.1 o 65 1014.9
22 21.0 0.0 I3t 8.2 o 66 1015.2
23 20.9 0.0 I3t 85 ook 62 1014.9
24 20.7 0.0 it 7.0 o 63 1014.9
Hmx KX 235 25 9.2 92 1015.5
B/ 19.8 0.0 0.8 62 1012.2
EEZD] 214 51 71 1013.8
a5t 35 kK
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER275FE2H198
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 20.7 0.0 JtE® 7.3 kK 61 1014.7
2 205 0.0 it 73 o 61 1014.4
3 20.1 0.0 it 6.2 o 60 1014.4
4 20.3 0.0 L= 6.1 o 62 1014.4
5 20.1 0.0 it 72 o 63 1014.6
6 19.9 0.0 it 6.0 ook 58 1015.3
7 20.1 0.0 I3t 8.6 sokk 62 1015.8
8 20.1 0.0 I3t 6.2 o 58 1016.7
9 20.3 0.0 it 5.7 o 57 1017.0
10 213 0.0 I3t 59 o 56 1017.1
11 215 0.0 I3t 59 ook 55 1016.8
12 228 0.0 it 56 sokk 51 1016.4
13 226 0.0 I3t 8.2 ook 55 1015.8
14 227 0.0 Jtt 72 sokk 54 1015.5
15 227 0.0 Jtit 71 o 53 1015.3
16 221 0.0 I3t 81 sokk 56 1015.5
17 21.0 0.0 I3t 91 sokk 52 1015.8
18 20.4 0.0 Jtt 7.9 sokk 61 1016.2
19 205 0.0 I3t 81 o 63 1016.5
20 20.6 0.0 I3t 95 o 53 1017.1
21 20.4 0.0 I3t 8.0 sokk 64 1017.3
22 20.4 0.0 I3t 91 o 59 1017.0
23 20.1 0.0 I3t 95 ook 63 1017.3
24 20.1 0.0 I3t 93 o 57 1017.1
H&x A 228 0.0 95 64 1017.3
B/ 19.9 0.0 56 51 1014.4
H¥EH 20.9 75 58 1016.0
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER278E2H208
Bl Kim R= JEL[F] JERE H BE B R BE KT
i3 °C mm 167’3’£’L m.”'s h % hPa
1 19.9 0.0 I3t 8.3 ook 58 1016.8
2 20.0 0.0 I3t 8.0 o 63 1016.1
3 19.9 0.0 Jedt 9.5 *kkok 53 1015.8
4 19.7 0.0 I3t 85 ook 55 1015.5
5 19.8 0.0 it 9.2 o 58 1015.6
6 19.7 0.0 it 85 sokk 60 1016.1
7 19.6 0.0 I3t 1.1 o 55 1016.7
8 20.0 0.0 I3t 93 o 40 1017.4
9 20.4 0.0 Jtit 7.9 o 45 1017.9
10 20.6 0.0 it 6.6 sokk 57 1017.9
11 19.7 0.0 JtE® 78 kK 62 1017.3
12 19.6 0.0 I3t 10.4 sokk 60 1016.8
13 19.9 0.0 I3t 9.2 o 55 1016.5
14 19.9 0.0 Jedt 10.0 *kkok 55 1016.1
15 20.1 0.0 I3t 93 sokk 48 1016.1
16 19.9 0.0 I3t 10.6 sokk 52 1015.9
17 19.9 0.0 I3t 105 sokk 56 1016.2
18 19.7 0.0 it 95 sokk 59 1016.7
19 19.7 0.0 it 9.7 o 63 1017.0
20 19.8 0.0 it 10.2 o 56 1017.6
21 19.6 0.0 it 1.1 o 55 1017.9
22 19.7 0.0 = 98 o 55 1017.7
23 19.9 0.0 it 95 o 58 1017.7
24 19.9 0.0 it 8.1 o 52 1017.6
H&x A 20.6 0.0 1.1 63 1017.9
B/ 19.6 0.0 6.6 40 1015.5
EERS] 19.9 93 55 1016.8
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|E#EEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . FRARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
ER278FE2H218
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 20.0 0.0 it 6.7 Fokx 49 1017.4
2 20.2 0.0 =it 6.2 o 49 1017.0
3 20.1 0.0 it 8.3 ook 53 1016.8
4 19.9 0.0 it 10.1 ook 52 1016.5
5 20.2 0.0 it 76 o 49 1017.0
6 20.1 0.0 it 8.7 ook 51 1017.3
7 20.2 0.0 it 93 sokk 61 10185
8 20.2 0.0 it 98 ook 55 1018.9
9 20.2 0.0 it 8.7 ook 54 1019.1
10 205 0.0 it 95 ook 60 1018.9
11 20.4 0.0 it 10.1 ook 59 1018.3
12 20.4 0.0 it 10.9 o 58 1017.6
13 20.6 0.0 it 115 o 57 1017.0
14 205 0.0 it 1.1 ook 62 1016.8
15 20.6 0.0 it 1.7 ook 60 1016.4
16 20.1 0.0 b= 14.6 ook 68 1016.4
17 20.2 0.0 it 14.4 ook 66 1016.7
18 19.9 0.0 it 13.7 o 68 1017.0
19 19.9 0.0 it 142 o 73 1017.7
20 20.6 0.0 it 125 ook 72 10185
21 213 0.0 it 1.1 o 63 1018.8
22 215 0.0 it 10.3 o 63 1018.8
23 215 0.0 it 10.9 ook 64 1018.6
24 216 0.0 it 1.3 o 65 10185
H&x A 216 0.0 14.6 73 1019.1
B/ 19.9 0.0 6.2 49 1016.4
HEH 20.4 10.6 60 1017.7
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
ER278E2H228
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 21.7 0.0 it 9.7 ook 60 10185
2 21.7 0.0 it 93 ook 67 1018.3
3 21.7 0.0 it 96 o 64 1017.9
4 215 0.0 it 10.0 o 73 1017.3
5 205 0.0 it 1.1 ook 79 1017.3
6 20.7 0.0 =it 10.4 ook 74 1018.0
7 20.6 0.0 it 96 ook 75 10185
8 20.9 0.0 it 91 ook 74 1019.1
9 211 0.0 it 10.0 ook 75 1019.2
10 216 0.0 = 8.4 ook 75 1018.9
11 223 0.0 it 93 ook 71 1018.2
12 234 0.0 it 8.4 o 63 1017.6
13 236 0.0 it 71 o 61 1017.0
14 241 0.0 it 77 ook 61 1016.4
15 237 0.0 it 8.4 ook 66 1015.8
16 234 0.0 it 85 o 66 1015.9
17 229 0.0 it 9.4 ook 70 1016.4
18 219 0.0 1t 8.9 ook 76 1016.7
19 21.9 0.0 it 9.0 o 75 1017.3
20 2138 0.0 it 99 o 77 1017.9
21 2138 0.0 it 7.9 ook 76 1018.2
22 222 0.0 it 73 ook 75 1018.2
23 2138 0.0 it 76 o 77 1017.7
24 215 0.0 it 8.9 sokk 81 1017.3
H&x A 241 0.0 1.1 81 1019.2
B/ 20.5 0.0 71 60 1015.8
EEZD] 220 9.0 71 1017.7
&3t 0.0 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU Hjei 36.1 REXE Hzfz.i 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
ER278E2H238
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 225 0.0 = 6.3 Fokx 72 1017.0
2 227 0.0 = 6.3 sokk 69 1016.4
3 228 0.0 = 54 sokk 68 1016.4
4 220 0.0 = 74 ook 74 1016.1
5 211 0.0 EEd 6.2 ook 78 1016.4
6 225 0.0 = 6.9 sokk 69 1016.4
7 228 0.0 = 6.8 o 64 1017.1
8 229 0.0 = 75 o 69 1017.6
9 234 0.0 = 6.4 sokk 65 1018.2
10 2338 0.0 = 6.6 sokk 63 1018.0
11 243 0.0 = 58 o 63 1017.4
12 243 0.0 = 56 sokk 63 1016.7
13 25.0 0.0 = 51 sokk 62 1016.1
14 25.2 0.0 = 4.7 o 60 1015.5
15 246 0.0 = 6.1 o 62 1014.9
16 245 0.0 = 59 o 63 1014.7
17 239 0.0 = 65 o 68 1015.0
18 235 0.0 = 54 o 67 1015.6
19 234 0.0 E 54 sokk 68 1016.1
20 232 0.0 54 sokk 69 1016.7
21 230 0.0 it 51 o 71 1017.0
22 230 0.0 it 5.2 o 70 1017.1
23 228 0.0 = 6.0 o 72 1017.0
24 227 0.0 HitE 51 ook 72 1016.4
H&x A 25.2 0.0 75 78 1018.2
B/ 211 0.0 4.7 60 1014.7
HEH 233 6.0 68 1016.5
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|E#EEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . FRARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
FR275F2H24H .
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 226 0.0 it 6.3 ook 69 1015.8
2 226 0.0 it 5.7 ook 69 1015.3
3 227 0.0 = 57 o 68 1014.9
4 227 0.0 = 5.9 o 65 1014.6
5 227 0.0 = 50 o 65 1015.0
6 226 0.0 = 53 ook 70 1015.3
7 230 0.0 = 45 o 65 1015.9
8 234 0.0 = 46 sokk 66 1016.1
9 237 0.0 = 41 ook 64 1016.2
10 239 0.0 E 52 sokk 66 1016.1
11 24.4 0.0 = 40 o 63 1015.3
12 25.0 0.0 E 37 o 61 1014.6
13 25.4 0.0 RS 32 o 60 1013.7
14 256 0.0 EE 31 o 60 1012.9
15 25.4 0.0 = 31 o 62 1012.5
16 258 0.0 R R 24 o 61 1012.6
17 255 0.0 HER 24 o 63 1012.9
18 243 0.0 EED 18 o 68 10135
19 236 0.0 Eab 12 ook 72 1014.3
20 233 0.0 B R 0.1 ook 74 1014.9
21 228 0.0 it 0.3 ook 76 1015.8
27 228 0.0 it 0.8 ook 76 1015.8
23 228 0.0 It 26 ook 79 1015.9
24 228 0.0 b= 15 ook 77 1015.8
H&x A 25.8 0.0 6.3 79 1016.2
B/ 226 0.0 0.1 60 1012.5
HEH 23.7 34 67 1014.8
&3t 0.0 *okok
BEEEAT—4
== |ER B °C =mew EREAH °C
R XU H1§6J1 36.1 RESE 50247 177
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER265E2H258
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 226 0.0 HitE 22 Fokx 81 1015.5
2 226 0.0 it 26 sokk 82 1015.3
3 223 0.0 it 2.7 sokk 84 1014.9
4 222 0.0 Jbib = 32 o 83 1014.6
5 222 0.0 it 2.8 o 82 1014.6
6 22.3 0.0 it 3.1 *okok 81 1014.7
7 224 0.0 it 4.0 o 81 1015.0
8 228 0.0 = 3.7 sokk 80 1015.5
9 245 0.0 it 35 sokk 71 1015.8
10 249 0.0 =it 32 o 69 1015.8
11 26.0 0.0 it 2.7 o 67 1015.2
12 273 0.0 it 23 o 64 1014.4
13 235 0.0 b= 2.9 o 77 1013.7
14 242 0.0 I3t 39 o 73 10135
15 23.9 0.0 Jedt 45 *kkok 78 1013.5
16 235 0.0 I3t 56 o 79 1013.7
17 233 0.0 it 6.0 o 79 1014.0
18 229 0.0 it 59 sokk 81 1014.3
19 228 0.0 it 6.1 o 83 1014.9
20 228 0.0 Jbib = 6.9 o 83 1015.8
21 228 0.0 it 6.9 ook 83 1016.1
22 226 0.0 it 6.9 sokk 84 1016.1
23 224 0.0 it 6.6 o 86 1015.6
24 224 0.0 HitE 6.8 o 86 1015.2
H&x A 273 0.0 6.9 86 1016.1
B/ 222 0.0 22 64 10135
EEZD] 233 4.4 79 1014.9
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HF/EEFX/MIUR)GKRBAIT—4 (5345 1]
t#&:20F25% HEiF:136E04%
FRE274F2 A 26H
FFZl i@ M= J& ] R H ERRFRE B <E
i3 °C mm 1651 m./'s h % hPa
1 22.6 0.0 *kkok 55 *kkok 85 1014.9
2 225 0.0 KKk 6.0 kK 87 1014.6
3 22.9 0.0 *kkok 47 *kkok 84 1014.3
4 23.1 0.0 *kkok 55 *kkk 81 1014.3
5 23.0 0.0 KKk 42 KoKk 82 1014.7
6 231 0.0 *okok 40 *okok 82 1015.2
7 23.1 0.0 *okok 47 *okok 82 1015.8
8 24.0 0.0 *okok 44 *okk 78 1016.2
9 243 0.0 *okok 52 *okk 76 1016.4
10 247 0.0 *okok 49 *okk 74 1016.4
11 25.3 0.0 *ofok 3.2 kokok 75 1015.8
12 25.7 0.0 *kkok 2.8 *kkok 75 1014.9
13 26.1 0.0 KKk 3.9 KoKk 72 10144
14 25.9 0.0 *okok 40 *okk 70 1013.8
15 26.3 0.0 *okok 40 *okk 70 1013.5
16 27.2 0.0 KKk 24 KKk 69 1013.7
17 25.3 0.0 KKk 29 KoKk 76 1014.0
18 246 0.0 *okok 3.1 *okok 79 1014.4
19 23.9 0.0 *kkok 3.0 *kkok 81 1014.9
20 23.7 0.0 *okok 3.0 *okok 82 1015.5
21 23.7 0.0 *okok 29 *okk 82 1016.1
22 235 0.0 *okok 29 *okk 85 1016.1
23 23.4 0.0 sokok 35 *kk 85 1016.1
24 23.4 0.0 *okok 34 *okok 85 1015.9
Hmx KX 27.2 0.0 6.0 87 1016.4
Hex/ 225 0.0 2.4 69 1013.5
H¥EH 24.2 3.9 79 1015.1
&S5t 0.0 *okok
BESAT—42
N S H °C o e |EAD H °C
RE R H1§6J1 36.1 RESE Hzfz.i 17.7
REIE T30 10245 RERE 790 930.1
= =|EE2FEHH|] mm/da = « |EEEAHR] m/s
RABRET 0575 2505 : FARE [F 797 55.2
ATF—24%. $63.9.25~H24.12.31 DEAE A EICLTLVET,




/BB (FX/M)O)K[RREBRT—A (4 1E]
ti&: 20259 Hi%:136E04H
ER278FE2H27H
BF Il b M= =G JEBES H BRI B [T
i °C mm 165 4iL m./'s h % hPa
1 23.2 0.0 okok 40 o 86 1015.5
2 23.2 0.0 oKk 44 o 87 1015.0
3 23.1 0.0 *okok 45 *okok 87 1014.7
4 23.0 0.0 *kokk 50 *kokk 87 1014.6
5 23.0 00 oo 5.6 Kok 87 1015.2
6 23.0 0.0 oKk 5.4 o 86 1015.8
7 229 0.0 oKk 6.4 o 86 1016.4
8 23.0 0.0 KoKk 6.4 *okok 87 1017.0
9 23.3 0.0 *okok 6.4 *okok 85 1017.6
10 23.0 0.0 *kokk 6.3 *kokk 87 1017.6
11 23.2 00 oo 6.8 Kok 86 1016.8
12 23.0 0.0 oKk 6.0 o 87 1016.1
13 23.2 0.0 oKk 6.6 o 86 1015.2
14 23.7 0.0 oKk 5.3 Kkok 83 1014.6
15 243 0.0 KoKk 46 *okok 84 1014.3
16 26.6 0.0 *kokk 3.8 *kokk 67 1014.1
17 25.8 0.0 oKk 40 osor 71 1014.3
18 244 0.0 *kokk 3.6 *kokk 77 1014.6
19 23.8 0.0 KoKk 41 *okok 80 1014.9
20 235 0.0 oKk 47 o 82 1015.3
21 234 0.0 oKk 44 o 83 1015.5
22 23.2 0.0 oKk 45 o 84 1015.5
23 23.1 00 oo 48 *okok 85 1015.5
24 23.2 0.0 oKk 5.2 o 84 1015.3
H&X 26.6 0.0 6.8 87 1017.6
Hax/I 22.9 0.0 3.6 67 1014.1
H¥EH 235 5.1 84 1015.5
&3t 0.0 *okok
BEgAaT—42
==ena EREAH °C =rea |EREAR °C
REXB [TH1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER275E2H28H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 227 0.0 I3t 59 sokk 90 1015.3
2 225 0.0 I3t 6.7 o 90 1015.2
3 224 0.0 Jedt 75 *kkok 920 1015.2
4 225 0.0 I3t 8.2 sokk 90 1015.3
5 225 0.0 I3t 9.4 okok 88 1015.8
6 225 0.0 I3t 9.2 okok 88 1016.7
7 22.6 0.0 Jedt 9.2 *kkok 87 1017.3
8 22.7 0.0 Jedt 9.6 *kkok 86 1017.7
9 230 0.0 I3t 10.2 sokk 84 1018.2
10 230 0.0 it 8.4 sokk 84 1018.2
11 230 0.0 it 58 o 86 1017.6
12 232 0.0 it 6.7 okok 85 1016.7
13 231 0.0 it 58 sokk 86 1015.8
14 25.7 0.0 HitE 6.2 o 70 1014.9
15 26.0 0.0 6.1 o 69 1014.3
16 255 0.0 it 6.3 sokk 71 1014.3
17 25.0 0.0 it 6.4 o 74 1014.7
18 240 0.0 1t 6.8 o 78 1015.0
19 23.9 0.0 it 78 o 78 1015.5
20 237 0.0 it 78 sokk 79 1016.1
21 237 0.0 it 8.8 sokk 78 1016.4
22 236 0.0 it 76 sokk 79 1016.4
23 236 0.0 it 8.2 sokk 80 1016.7
24 235 0.0 it 8.3 sokk 79 1016.5
H&x A 26.0 0.0 10.2 90 1018.2
B/ 224 0.0 58 69 1014.3
H¥EH 235 7.6 82 1016.1
&3t 0.0 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU Hjei 36.1 REXE Hzfz.i 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




